
Math 241 Quiz #2 Spring 2025 Name:

1.Find an equation of the plane through the points (0, 1, 1), (1, 0, 1) and (1, 1, 0).

Solution. Name these three points as P , Q, R, respectively.
−−→
PQ = 〈1,−1, 0〉 and

−→
PR = 〈1, 0,−1〉.
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The equation of the plane:

(x− 0) + (y − 1) + (z − 1) = 0 or x+ y + z = 2

2. Find a parametric equation of the tangent line to the curve r = 〈cos 2t, sin t, t〉 at
t = π/4.

Solution. When t = π/4, x = cos(π/2) = 0, y = sin(π/4) =
√
2/2 and z = π/4.

That gives the information of “one point”. In addition, r′(t) = 〈−2 sin 2t, cos t, 1〉. This
gives the information about “one direction”:
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So the parametric equation of the tangent line is
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